Vi ==y
= =

%1 #

B 5% 3% 1208
ZE S 3%F12H31H

BRIZEVED

EFEfEETSHE1—2—-3




AX2 fH:

xR 3K

= 18
(B /)
GRI=EHUVEY 4 3%F12831H RE
& E 0 8 & 0
¥ H & %A ¥ H & %
[RENEE] [FRHAR]
[IR&-FEE] [T AEFH]
18 & 124,796 x L AEF § 0
T &8 T =% 1,097,524 | [HhiREIELE]
*IFE-FAE § 1,222,320 ¥ OH B A £ 2,000,000
[5E L{BHE] = h & 279,000
5t #h & 378,000 xWiE N EF 64,100
x5c FEHE 378,000 x fREEE 3 2,343,100
[HHEN & ZE] * RENBE &% 2,343,100
x HENEE 3 0| [EEAR]
[fthiREN & E] xEEBE &3 0
*x REVERE 3F 0 BEEODEH S 2,343,100
xRBEE /&t 1,600,320 WoBE E DL
[BE&EE] [BREEXK]
[BREE & E] [EARE]
BEoWwm OE i B 1,230,000 = K & 100,000
i B A R 5t &8 A461,250 x BAE O 100,000
x BERETEE 37 768,750 | [EAE|LRE]
(%2 [E E & E] [EAREHE]
x BELEEEE § 0 * EARERFE B 0
[ EZDMhDE E] * BEAREIRE &5t 0
x IREFOMDEE 3 0| [FIEBEIRE]
xEEEE /&t 768,750 [F i EE <]
[BEEE] *x FImEFE B 0
xREEE B 0 [FDihF| 25 F R E]
BRI ERERE A74,030
x FOMFEBIRE B A74,030
x FEEIRE BEF A74,030
xBEERN BFf 25,970
MEEODDE G 25,970
BEEOHEE 2,369,070 BE-MEEOHEE 2,369,070




= A R R = »
ARRHVEY (B 471 3% 1A208 E 4K 3F 12081 o)
[EL&E]
5t + = 3,132,000
stLtE A&t 3,132,000
[5% LR {i]
% 3 m T & 594,000
Se LR &5t 594,000
5t L #aF 3 2,538,000
[AREEHE]
BRTE-—REEE &5t 2,547,930
EERE A9,930
[EF5I4x]
X5 UnE Et 0
[Ex5NEHAH]
EENER & 0
R T A9,930
(4550 FI 4% ]
% Al F & Et 0
[$FR1#E %]
=TI T S 0
5 |5 HHA R 3 A9,930
EANTR-ERBRRUVEER 64,100

LERME R 25 A74,030



W 78 N ON— i B 2y PN I

ARRHVEY (B 471 3% 1A208 E 4K 3F 12081 o)
% =] # i) 1,550,000
] H Z 46,846
far b3 1B =i 5,250
wm E2 X B Z 67,294
R 53 & 70,500
H 3 &h Z 309,760
& & Z 32,400
Zi:| i 7N 4,000
*x W F #m M 630
mofm B @ E 461,250

REE- —REEE &5t 2547930




NSNS U

(B4 )
BRIV EY (B $M3F 15208 = 5% 34F12A31H)
BEARE BEXRERE FERERE MEESE

ZHEERS 100,000 0 0 100,000
LHEAL E)EE

ElRENDECH 0 0 0 0

=LCRESIERY 0 0 A74,030 A74,030

LEALENRE AET 0 0 A74,030 A74,030

LEIXRES 100,000 0 A74,030 25,970

LFEEDBIHRERLET,

sS4 &£ 2 A 25 H

KKt E&  E —HB




